$£290 MEMBU>CPAARYT—A=

IR27F10838 () ~248 ()
BLDRP A AP =T

(F=) 108248 I1R’&
AJOwD B7OwD
1 | 2
© sE7r20| Al pEP2 |
o - o PAMyT—|PA2mvTr—| mur— | B | 8| D |Bs| ks e IEk
o - o DER DER 557
1 - 0 .
© S 8 3 &% F120 1
0) ® PR T — ) 3 o 3 o|l2|o|1]13[-12[3
/. T
o - 3 3 - 1 D 0- 4 o 1
o — 1 4 — 1 1 - 1 0 -1
o — 1 1= O O
0 8 - 1 4 -
I D DR V] |Pazmkyr—| 3 - 0 1 o 2lo|o|12]| 2|10]1
] K Bl o LED 4-0 2 - 1
7 o »
0 7 r 1 -1 1-0
> 7 ’ t O ®
Vv 2 e 5-0|1-4
| A TR BITE 1 2
7 v x oy — 3-0 0 -1 111]l0|6|4]|2|2
! ; o357 1-0 1-2
v P 7 X
S @! Sill ze 1-0 0 -1
CREER—T XV ] FEIMRTEH
1 | o
®
0 0 2 9
o - o ®
1. -0 0 —- 3
4 0 3 o - 3
2 — 3
2 — 0 3 — 1
0 0 0 0
2 — 0 o - o0
= ] & b B A
Bl [i] K % i) 5%
» 7 o 7 ? »
it 1 > 1 1 1
2 2 o 2 2 2
N N 2 N N N
v v 7 v v v
T T y T T T
| | 7 | | |
» 5 > » 5 )
F > F F > &
7 =7
(METOv D)
. EER ]
SEBRE | Vortexkz |Pramyr—| B | & | 9 |Bm| x| exa| B
=t DED i
IR
o
I3 2 -9 ol2lol|s|1]s|T B B RPNy —DER
TI—f VX 1- 4 1 1
0- 3 o ) . v e
) o o ) ERBE BKEEP ARy T—DER
O .
3 fiI SHIRP A ARy /T —DER
9 - 2 6 - 2 '
Vortex k%2 4 - 1 2 -0 210|015 4 |11 o A ——
o Ol mam ssmpramor—n57
3-0 4 -1
2 - 1 0 -1
28 5 fii VortexkKz2
O o -
serrzn| 2 - 112 -6 %6 I EF FRIPAARyT—DED
PARAy = | 1 - 0- 2 1]1]olal7|s|@| PO EETATTIANTOED
DEE 0-o0 1 - 4
T e L £7 1 GBEETIL—1 Y2




